Particle Motion: A Graphical Approach
Here is the graph of the velocity of a particle moving along the x-axis. At t

Include units in each response:
Fmd the vefacwy@f the-particle when t=6.
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velocity (m/s)

3.Find ¢ cceleratma when t=2.

If velocity is v(t) then speed is !%

5
6. Total distance {raveled over 8 seconds:
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12. When is the particle farthest to the right? What is the position at this time? é;g = jf; , > (3 .
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Particle Motion: An Analvtical Approach [Inspired by 2003AB4 no calculator]
A particle moves along the x-axis with velocity at time t = 0 given by v(£) = —1 + et feet per second.

1. Find the speed of the particle when t = 3 seconds.

Find the dcr*duatzop of the particle when =3 s
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Is the speed of the particle increasing or decreasing when t =3 seconds? Justify.

When t=1 sec, the particle is located at 3 feet |s
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6. conds.

Find the total distance traveled

over the first 3 se

Particle Motion: Numerically [2( 1)%8;.
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m&i%iiifé in mieters per minute,

temann sum with the four subintervals indicated 1o the

Approximate the value of j
Pl

table.



Particle Motion: A \um@r;ccﬂ Aﬁmoac‘q [2015AB1. no calculator]

t minutes Y ‘ 12 |

Johanna jogs along a straight path. For 0 £ ¢ £ 40, Johanna's velocity is given %sg a differentiable function v.
Selected values of v(r}, where 7 is measured in minutes and v{r} is m@z%:»gﬁg“@é in meters per minufe, are given in

the table above. PN T s — 2w g
gHw) =z —— = L% J .
{a) Use the data in the table to estimate the value of v/{16}. 4 Za = 2 s ™[
N Ky Nii} & ni F
(b} Using correct units, explain the meaning of the definite miegral § wir dr in the context of the problem

¢) At least how many times in (0,40) was Johanna at rest? Explain. ;e
¥ p L )

(d) Find Johanna’s posrtmn after 24 minutes if her initial position s(0) is 3 feet from a landmark. & 2 A &
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